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Decimal subtractions
Sheet 1

Choose whether to count back or count up (Frog) to work out the answers to
these subtractions.
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Now write two decimal subtractions where you would count back to find the
answers.

Write two decimal subtractions where you would count up (Frog) to work out
the answers.

Muddle them up and share with a partner. Can they say which subtractions you
would work out using counting back and which you would work out using
counting up?
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Finding change
Sheet 1

Find the change from £50.

1.1£47.89 2.£35.76 3..£37.28 4,£23.17

Find the change from £100.

5(£7489 6.£84.25 7.(£64.38 8..£25.47

Find the total and then the change from £100.

9. £4523 + £2468 10. £5278 +£2342
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11. £3646 + £27.35 12. £5429 + £1647
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Challenge

Find the total and then the change from £100:
13. £2463 +£17.24 + £25.09
14 £3467 +£2849 +£18.24
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Estimating differences
Sheet 1

Estimate the answers to these subtractions and write them in the correct column:
£2925-£2599 £7449-£6999 £2335-£1875 £2375-£1825 £4265-£3849 £5429-£4895
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Challenge

Now write your own two subtractions to go in each column. Each digit must be different in each price.
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Estimating differences
Sheet 2

Estimate the answers to these subtractions and write them in the correct column:
£7245 - £63.79 £5836-£38.17 £5683-£3436 £6146 - £41.27

£9434-£7282 £83.21-£6345 €£11034-£89.79 £103.38-£83.65
Then calculate each answer to check. Draw an arrow to show if a calculation needs to move to another column.
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Now write your own two subtractions to go in each column. Each digit must be different in each price.
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